0,1 MPa)

Wykres i-x MOLLIERA dla powietrza wilgotnego (b

? —_
g 8 8 3 B 2 g
s 3 o : =
2 ° e 2 I
2] 2 . o = _
.%\m ~ pe ) __ \\/ﬂohuo\// = -
1 ok O XS = o
o] ol AT XU DU B -
1 < | < %% e -
u < o V\w\ | @.ﬁ x\ ~ |
y 4Qlu g B o\ vﬁ\ﬂﬁv\ / M B
27~ . " e — =
“1 SR 8X0% © <
1 TR TS ST RIASK S S 5
R N7 % Kot 5 N N —
[ ~ N — -
1 ovAo % ~¥w\ AA\/\ N (v Aw = i
o] o A I b yvan 3 g e
1 ALK PN A SPRK]S ° i
us_\ \f\ TN w%\%\y/AA 8 -
37 ~¢ ] % % % )W\ o N B
| U P D PR s :
8] withd AT L A D DAL DR . | i
\ T I TALL AT XV\AVN(«N O © .
10 1 T NIp = -
T DK AT A % 4 K
&9 oY \h AVA/A_ d \\ww\ %m/w \WMAM W < W% S
/] N ] >/ Da N
| | a - -
o g éon \ \‘\\\ L 14 \VAiwvA/A R\oo \N \vAVA/ .OOOMMNVA VAV.WU O
y ~ 2_ <t o} oo~ o+ 9; v Al bm VNoo_ Z]
g Om.u 0 _ o 0 o o 0\ _ o
wn A - ™ ® N AN ~ ~
¢ 3 g & s g &g






